Fisher’s Iris, ADALINE, and Python
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0 1 2 3 target

0 5.1 3.5 1. 0.2 0
1 4.9 3.0 1. 0.2 0
2 4.7 3.2 1. 0.2 0
3 4.6 3.1 1.5 0.2 0
4 5.0 3.6 1. 0.2 0
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w = (—0.11190585, —0.04007949, 0.22864503, 0.60925205), (3)
0 = 0.18649524720625021 (4)
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# application of ADALINE to iris data

import pandas as pd
import numpy as np

from pandas import Series,DataFrame

from sklearn.datasets import load_iris
iris = load_iris()
#print (iris.DESCR)

#print (iris.feature_names)

iris_df = DataFrame(iris.data)
iris_df.to_csv("iris_df.csv")
iris_df[’target’] = DataFrame(iris.target)
#print (iris_df.head())

from sklearn.linear_model import LinearRegression
#TUVARVA

1r = LinearRegression()

P RUE it (1) DF & HEE L THIFR
X = iris_df.drop("target", 1)

#Y IZHNZEHZ AN D

Y = iris_df.target

H#+

1r.fit(X,Y)
w = lr.coef_

theta = lr.intercept_

j=0
for i in range(150):
# ifTEMOHEL, TNERT PV ET S
XV=X.loc[i]
y=np.dot (XV,w)+theta
print (°{:>3}’.format (i), ’{:<10.6f}’.format(y), Y[i], end="")
if (round(y) !'= Y[il):
print("  incorrect")
=1
else:
print("")
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.177422
.203947
.2883561
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134 1.533028 2
135 2.000596 2
136 2.087835 2
137 1.700253 2
138 1.588971 2
139 1.804211 2
140 2.055097 2
141 1.857468 2
142 1.752895 2
143 2.047566 2
144 2.130871 2
145 1.906721 2
146 1.682094 2
147 1.746327 2
148 1.992372 2
149 1.668756 2
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(3), (4) Dz VT,

x = y(xg, 1, T2, T3) = Woxo + W1T1 + WoTy + waxs + 6, (5)
0 & bF—¥ (Setosa)

y = 1 Yz ¥HhI—(Versicolour)

2 Ur—Y=7 (Virginica)
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